12@0503 (K12a0503)

(O R
s ﬁ

\ /\/ Solving Sequence
28 >7—>3>4—>9—>5->112>6->11~> Cs,Co, C
A knot d1agrarrE| 8 cr 7 s 3 ca 4 cs 9 Ca o o 6 111101010%> 55 €9, C12

Ideals for irreducible component#ﬂ)f Xpar

= (v’ =23 +b+1, v+ +a—1, u +2u°+2u> —u? —u—1)
I = (—u!® — 5ul® —u!? — 120" — 4010 — 150° — 8u® — 100" — 8u® — 2u® — 5ut + u® — 2u® + b — 1,
ul® 4+ 20t + 50t + 9ut? + 120! + 1960 + 15062 + 1968 + 1067 + 8u’ + 2u® — 2u* — u? + a + 2u,
u'® +u'® + 5uM + 5ut® 4+ 1202 + 120! 4 1560 + 156 + 10u® 4 100 4 268 + 2u® +u? + 1)
I = (—u 4+ 2u! — 7u!® 4+ 9u'? — 18uMt + 1660 — 210 4+ 120® — 8u™ + 2u® 4 4u® — u* + 2u® 4+ 2u® + b — 3u +
—u'® = 3u®® — 2u'? — 20! — 66 4 3u” — 6u® + 4u” + 4ut — 203 + 2u% + 20+ u — 1,
u'® — 20" 4+ 7utt — 10u® 4 18u'? — 20ut! + 21u'® — 180 + 8u® — 4u” — 4uS + 4u® — 2u* + 3u? — 3u 4 2)
I = (u 4 3u®® +dut —u® —du” — 40w b1, —u'® =3’ — et Fu® 4" 4’ - 20 a1,
u'® + u'® + 5ut + 5ut® 4+ 1202 + 120 4 1560 + 1506 + 100® 4 100 4 268 + 2u® +u? + 1)
=btu—1,a—u+2, v’ —u+1)
=W —v?a+2u® —u?+b—atu—1, —2u’a—u® — 4uda+u* + 2u’a — 203 + a® — au + 4u* + 2a — 2u + °
uS + 2t —ud U —u—1)
F=b-u—1a+2u+1, u>+1)

* 7 irreducible components of dim¢ = 0, with total 71 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LIr=(—u*—2u®+b+1, uS+u+a—1, u” +2u’+2u® —u? —u—1)

(i) Arc colorings

w= (1)

ag —
ay =
az =
ag =

(
(
(
(
(
(
(
(
(

(ii) Obstruction class = —1

(iii) Cusp Shapes = —6u® — 6u* — 6u? + 6u + 6



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C9,C11 u” 4+ 4u8 4+ 8u® + 6ut —H5u? —u—1
C2,C5, C
255,76 u” 4+ 2u” + 20 +u? —u+ 1
C7,C10,C12
C3,C4,Cs w’ —5u® — 20t + Tud + 4u® + 4




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,C9,C11 Y+ 16y° 4+ 2yt +52y° — 132 — 9y — 1
C2,Cs5, Ce y7+4y6+8y5+6y4_5y2_y_1
C7,C10,C12
C3,Cq, C8 y" — 10y% 4 39y° — 74y* 4 65¢° — 32y — 16




(vi) Complex Volumes and Cusp Shapes

Solutions to I} V—1(vol +/=1CS) Cusp shape
u= 0.863824
a = —0.125557 —4.43886 0.872100
b= 0.770135
u = —0.506221 + 1.1047107
1.49617 + 1.945711 —5.20269 — 11.203601 | —5.65627 4 10.718051

b= 0.22746 — 2.444611

u = —0.506221 — 1.1047101
a= 149617 —1.945711 —5.20269 + 11.203601 | —5.65627 — 10.718051
b= 0.22746 + 2.444611

u = —0.426442 + 0.4917231
a= 0.719469 — 0.0432111 0.805836 — 1.0998601 4.64625 + 4.749541
b= —0.487688 + 0.1925801

u = —0.426442 — 0.4917231
a= 0.719469 + 0.0432111 0.805836 + 1.0998601 4.64625 — 4.749541
b= —0.487688 — 0.1925801

uw=0.500751 + 1.2648201
a = —1.15286 + 2.511081 —15.5903 + 14.76351 —8.42603 — 8.804811
b= —1.12484 — 3.583041

uw=0.500751 — 1.2648201
a = —1.15286 — 2.511081 —15.5903 — 14.76351 —8.42603 4+ 8.804811
b= —1.12484 + 3.583041




II.
I¥ = (—u'5—5u3+-.-+b—1, u'®+2u'*+. .-+ a+2u, uC+u®+. - +u?+1)

(i) Arc colorings

o (1)
)

ag =
a7 =
az =

aq =

(o
—uS 4+1
ag = u6—|—2u +u?
—|—2u +ub—2ud —u
as = —3u" —3u’ +u
a = <u5+u +u>
— M —2u
+5u13+ c+2u? +1
15+3u13+3u11 3u? —6u” — 2P +3ut +u—1
wl + 30 +4u” +ud —ud —u

—ul 2u14+ 4t u)

a1l = u® + 2u8 + 2u?

—2uMt+ . = —u
aijp =\ — 1072u —u +2u4+u2
(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u!* — 4413 — 16u'? — 20u!! — 3200 — 444° — 28u® — 440" —
1208 — 12u® + 4u* + 1203 — 4u® + 4u — 6



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cy w4+ 9u . 4241
C2,Cs5,Ct u16_u15+_._+u2+1
C10
c3,C4,C8 ul® —2uM 4. — w42
C6, C12 u'® 20+ £ 3u 42
ci1 u'® +10ur® + -+ 3u+4




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1, ¢ Y —3y =2y +1
C2,Cs5,Ct y16+9y15+_._+2y+1
€10
C3,C4,C8 y16—18y15+--~+19y—|—4
Co5 C12 y'% +10y" + -+ 3y +4
c11 Yo — 10y - —y + 16




Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

u = —0.892953 4 0.0359581
a = —0.652536 + 1.2008901
b= 0.02318 + 2.243811

—8.19036 + 4.734801

—2.47201 — 3.022891

u = —0.892953 — 0.0359581
—0.652536 — 1.2008901
b= 0.02318 — 2.243811

—8.19036 — 4.734801

—2.47201 4 3.022891

u = —0.458901 + 0.7348781
a = —0.104273 — 0.4354111
b= 0.247757 + 0.7573741

0.85997 — 1.950721

3.06114 4 4.170421

u = —0.458901 — 0.7348781
a = —0.104273 4 0.4354111
0.247757 — 0.7573741

0.85997 4 1.950721

3.06114 — 4.170421

= —0.379593 + 1.0795801
= —0.56037 — 2.031871
—1.36347 4 1.327121

—7.04324 — 3.372921

—8.93248 + 5.208881

—0.379593 — 1.0795801
—0.56037 4 2.031871
—1.36347 — 1.327121

—7.04324 + 3.372921

—8.93248 — 5.208881

0.469252 + 1.0531601
= —0.371270 — 0.5618341
0.161095 + 0.3628881

—2.68724 + 6.609371

—2.51664 — 7.406631

0.469252 — 1.0531607
—0.371270 4 0.5618341
0.161095 — 0.3628881

—2.68724 — 6.609371

—2.51664 + 7.406631

0.190701 + 0.8103841
0.33485 — 2.321941
0.569648 + 0.3912181

—3.86698 + 1.084381

—3.75949 — 5.901271

0.190701 — 0.8103841
0.33485 + 2.321941
0.569648 — 0.3912181

>~ Q@ €|l & €| & €|l & €| & €| & &>
Il

—3.86698 — 1.084381

—3.75949 + 5.901271




Solutions to I3

V=1 (vol + y/=1CS)

Cusp shape

= —0.487539 + 1.2542701
= 0.652357 — 0.6431371
—0.736189 4 0.1105561

—11.8837 —9.67511

—5.50822 + 5.976781

—0.487539 — 1.2542701
= 0.652357 + 0.6431371
= —0.736189 — 0.1105561

—11.8837 4 9.67511

—5.60822 — 5.976781

0.469746 + 1.2630101
= 0.70256 — 1.982631
= 1.83074 +2.271751

—16.0195 + 4.85971

—9.14726 — 3.117891

0.469746 — 1.2630107
= 0.70256 + 1.982631
1.83074 — 2.271751

—16.0195 — 4.85971

—9.14726 + 3.117891

0.589289 + 0.2704761
= 0.998682 + 0.3247341
—0.232766 + 1.3754501

—0.51702 — 2.459231

1.27496 + 3.253821

U
a
b
U
a
b
U
a
b
U
a
b
U
a
b
U
a
b

0.589289 — 0.2704761
= 0.998682 — 0.3247341
= —0.232766 — 1.3754501

—0.51702 + 2.459231

1.27496 — 3.253821
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I11.
I = (—u'S+2u+- - -+ b+3, —u'®—3u'3+-.-4+2a—-1, u'®—2u'5+-..—3u+2)

(i) Arc colorings

0

a2 = u
ag =
a7 =
az =
aq =
as = —u? —3u” —3u® +u

ay =

(
(
<
( 6 4
I Gri )
(
(
(
(
(

ann =\ -y 42yt 4. —2u 41
qut® — 3l 4 du 4 )
aio =\ —u®+2uM+--- —2u+3
(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u'? + 16u!! + 24u° + 4u” — 20u® — 12u® + 4u — 6

11



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! u'® +10ur® 4+ +3u+4
Co,C7 w4+ 2ud -+ 3u+2
C3,C4,C8 b —o2ud . —u+2
€5, C6, C10 W — w21
C12
€9, C11 u® +9ut® 4 2u 41

12



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1 y16_10y15+_y+16
€2, €7 YO+ 10y + -+ 3y +4
C3,C4,C8 y'® — 18y + .- + 19y +4
€5, C65 C10 g+ oyl + . 42y +1
C12
€9, C11 y' =3y -2y +1

13



Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

u = —0.402991 + 0.9680831
a= 0.222795 — 0.6099311
b= —0.059233 + 0.5692021

—0.51702 — 2.459231

1.27496 + 3.253821

u = —0.402991 — 0.9680831
0.222795 + 0.6099311
b= —0.059233 — 0.5692021

—0.51702 + 2.459231

1.27496 — 3.253821

0.921586 + 0.0494921
0.594426 + 1.1961601
b= —0.09325 + 2.321481

u =

a =

—11.8837 — 9.67511

—5.50822 + 5.976781

u= 0.921586 — 0.0494921
= 0.594426 — 1.1961601
—0.09325 — 2.321481

—11.8837 4 9.67511

—5.50822 — 5.976781

0.059705 + 1.1527101
0.23551 — 1.675591
0.10924 + 1.442461

—3.86698 — 1.084381

—3.75949 + 5.901271

0.059705 — 1.1527101
0.23551 + 1.675591
= 0.10924 — 1.442461

—3.86698 + 1.084381

—3.75949 — 5.901271

—0.270509 + 1.2075001
= —0.55626 — 1.868161

—7.04324 + 3.372921

—8.93248 — 5.208881

—0.270509 — 1.2075007
—0.55626 + 1.868161
—0.82968 — 1.870981

—7.04324 — 3.372921

—8.93248 + 5.208881

—0.724264 + 0.2304051
= —0.784571 + 0.6542941
0.31772 4 1.623491

—2.68724 + 6.609371

—2.51664 — 7.406631

—0.724264 — 0.2304051
= —0.784571 — 0.6542941

b
U
a
b
U
a
b
U
a
b= —0.82968 + 1.870981
U
a
b
U
a
b
U
a
b= 0.31772 —1.623491

—2.68724 — 6.609371

—2.51664 + 7.406631
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Solutions to I3

V=1 (vol + y/=1CS)

Cusp shape

= 0.507077 + 0.5435961
= 0.458679 — 0.2487861
= —0.339347 + 0.9972891

0.85997 — 1.950721

3.06114 4 4.170421

= 0.507077 — 0.5435961
= 0.458679 + 0.248786.1
= —0.339347 — 0.9972891

0.85997 4 1.950721

3.06114 — 4.170421

= 0.465530 + 1.2459101
= —0.629795 — 0.6683401
0.723472 + 0.1980021

—8.19036 + 4.734801

—2.47201 — 3.022891

0.465530 — 1.2459101
—0.629795 + 0.6683401
0.723472 — 0.1980021

—8.19036 — 4.734801

—2.47201 + 3.022891

0.443866 + 1.2870901
= 0.70921 — 1.957381
1.67108 + 2.404261

—16.0195 — 4.85971

—9.14726 + 3.117891

0.443866 — 1.2870901
= 0.70921 + 1.957381
= 1.67108 —2.404261

—16.0195 + 4.85971

—9.14726 — 3.117891
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IV. I = (u'® + 3u'® + qu' —u® —4u” —4u® + ¥ +b—1, —u'® — 3u®® +
ta+1, ul®+u® 4w+ 1)

(i) Arc colorings

o (1)
)

ag =
a7 =
az =

aq =

(o
—uS 4+1
ag = u6—|—2u +u?
—|—2u +ub—2ud—u
as = —3u" —3u’ +u
ay = <u5+u +u>
u15+3u13+4u11—u — 4T — 4P+ 20— 1
—AuMt o 4"+ 4w — P+ 1
2u14+ —u?—u
15+2u14+ +u+1
ul® + 3ul3 Jr 4u11 w? —4u” —3u® +2ud -1
ai] = 4u11 +u? +5u” +5ub +1
15+3u13—|—4u11—ulo—ug—3u8—4u7—4u6—4u5—u4—|—u3—|—u2—u
ajp = 2uld +8ult + .- —u 42

(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u!* — 4413 — 16u'? — 20u!! — 3200 — 444° — 28u® — 440" —
1208 — 12u® + 4u* + 1203 — 4u® + 4u — 6

16



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C11 w4+ 9ut o 2u 1
C2,Cq, C7 u16_u15+_._+u2+1
C12
C3,C4,Cs b —o2ud . —u+2
Cs5,C10 u'® 20+ £ 3u 42
Co u'® +10ur® + -+ 3u+4

17



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1, C11 y'® =3y + . —2y+1
C2,Cq, C7 y16+9y15+_._+2y+1
C12
C3,C4,Cs Yt — 18y + -+ 19y + 4
€5, €10 y'® +10y™ + - + 3y +4
Co y16_10y15+_y+16

18



Solutions to Ij

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1C)

Cusp shape

u = —0.892953 4 0.0359581

a= 0.1015470 4- 0.03147511

b = —0.810093 + 0.0544931

—8.19036 + 4.734801

—2.47201 — 3.022891

u = —0.892953 — 0.0359581
a =

b = —0.810093 — 0.0544931

0.1015470 — 0.03147511

—8.19036 — 4.734801

—2.47201 + 3.022891

—0.458901 + 0.7348781
1.317400 + 0.3296971
—0.670552 — 0.2622901

0.85997 — 1.950721

3.06114 4 4.170421

—0.458901 — 0.7348781
1.317400 — 0.3296971
—0.670552 + 0.2622901

0.85997 4 1.950721

3.06114 — 4.170421

= —0.379593 + 1.0795801
2.22885 + 2.073961
—0.95631 — 2.865521

—7.04324 — 3.372921

—8.93248 + 5.208881

—0.379593 — 1.0795801
= 2.22885 —2.073961
—0.95631 + 2.865521

—7.04324 4 3.372921

—8.93248 — 5.208881

0.469252 + 1.0531601
= —1.74058 + 1.754411
0.28250 — 2.226821

—2.68724 + 6.609371

—2.51664 — 7.406631

0.469252 — 1.0531607
—1.74058 — 1.754411
0.28250 + 2.226821

—2.68724 — 6.609371

—2.51664 + 7.406631

0.190701 + 0.8103841
= —2.50371 — 1.265171
2.13493 + 0.821391

—3.86698 4 1.084381

—3.75949 — 5.901271

0.190701 — 0.8103841
—2.50371 4+ 1.265171

U
a
b
U
a
b
U
a
b
U
a
b
U
a
b
U
a
b
U
a
b
U
a=
b= 213493 — 0.821391

—3.86698 — 1.084381

—3.75949 + 5.901271
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Solutions to Ij

V=1 (vol + y/=1CS)

Cusp shape

= —0.487539 + 1.2542701
= 1.21664 + 2.519021
0.96843 — 3.597811

—11.8837 —9.67511

—5.50822 + 5.976781

—0.487539 — 1.2542701
= 1.21664 — 2.519021
= 0.96843 + 3.597811

—11.8837 4 9.67511

—5.60822 — 5.976781

0.469746 + 1.2630101
= —1.23893 + 2.594091

—16.0195 + 4.85971

—9.14726 — 3.117891

0.469746 — 1.2630107
—1.23893 — 2.594091
—0.90542 4 3.772741

—16.0195 — 4.85971

—9.14726 + 3.117891

0.589289 + 0.2704761
= —0.381211 + 0.0887171
0.456516 + 0.1732721

—0.51702 — 2.459231

1.27496 + 3.253821

0.589289 — 0.2704761
= —0.381211 — 0.0887171

U
a
b
U
a
b
U
a
b= —0.90542 — 3.772741
U
a
b
U
a
b
U
a
b= 10.456516 — 0.1732721

—0.51702 + 2.459231

1.27496 — 3.253821
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V.I!=bt+tu—1l,a—u+2, v —u+t+1
5

(i) Arc colorings

o= (1)

ag —
a7 =
az =

aq =

(
(
(

(
o= (%)
(

(

(

(

(

(ii) Obstruction class = —1

(iii) Cusp Shapes = —12u+6
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C2,Cs5
w4 u+1
Ce6, C7, Co
€10, C11, C12
2
C3,C4,C8 u—u—+1

22



(v) Riley Polynomials at the component

Crossings

Riley Polynomials at each crossing

C1,C2,C3
C4,Cs5, Ce
C7,Cg,C9

€10, C11, C12

y2+y+1

23



(vi) Complex Volumes and Cusp Shapes

Solutions to I¥ vV—1(vol +/=1C8S) Cusp shape
uw = 0.500000 + 0.8660251
a = —1.50000 + 0.866031 6.089651 0. —10.392301
b= 0.500000 — 0.8660251
uw = 0.500000 — 0.8660251
a = —1.50000 — 0.866031 — 6.089651 0. 4 10.392301

b= 0.500000 + 0.8660251
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VL I} = (u’ —u?a+2u® —uv?+b—a+u—1, —2ua—u’+.--+2a+
2, ub +2u* —uP +u?—u—1)

(i) Arc colorings
0
a2 = u
ag =
a7 =
az =

aq =

a5 =
ay =

a
—u5+u2a—2u3+u2+a—u+1)

u5a+u5+2u3a—u4—u2a+2u3—4u2—a+2u—1>

—wla—ut—1

7u4a7u5+a
uta —ula —ut + vla — 2u® —au — 2u+1

(
(
(
(
ag = ( ud+u+1
(
(
(
(
(

wWHuwPa+2ud —uwP—u—1
a0 = \uta—uwW+uia—4duP +ui+a—2u+1

(ii) Obstruction class = —1

(iii) Cusp Shapes = —6

25



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1, €9, C11 (ub + 4u® + 6u* +u® — 5u® — 3u + 1)?
2,65, €6 (uf 4 2u" + 0 + u? +u— 1)
C7,C10,C12
C3,C4, C8 (u® +u—1)°
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1, g, C11 (y® — 49® + 18y* — 35¢° + 43y* — 19y + 1)?
2,656 (y° +49° + 6y +y° — 5y* = 3y + 1)°
C7,C10,C12
C3,C4,Cg (y2 _3y+1)6
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(vi) Complex Volumes and Cusp Shapes

Solutions to I VvV—1(vol + /—1CS) Cusp shape

= 0.896795
0.66668 + 1.266171 —12.1725 —6.00000
0.08778 4-2.284471

0.896795
= 0.66668 — 1.266171 —12.1725 —6.00000
= 0.08778 — 2.284471

> Q@ 2|l & &

u=0.248003 + 1.0883607
a = —0.296970 — 0.8734641 | —4.27683 —6.00000
b= 0.309017 + 0.8205961

uw=0.248003 + 1.0883601
a= 0.44704 —1.961821 —4.27683 —6.00000
b= 0.80502 + 1.356111

uw = 0.248003 — 1.0883601
a = —0.296970 + 0.8734641 | —4.27683 —6.00000
b= 0.309017 — 0.8205961

uw=0.248003 — 1.0883601
a= 0.44704 + 1.961821 —4.27683 —6.00000
b= 0.80502 —1.356111

u = —0.448397 + 1.2661701
a= 0.648271 —0.7017731 | —12.1725 —6.00000
b= —0.809017 + 0.2478641

u = —0.448397 + 1.2661701
a = —0.69692 — 1.967941 —12.1725 —6.00000
b= —1.70581 + 2.284471

u = —0.448397 — 1.2661701
a= 0.648271 +0.7017731 | —12.1725 —6.00000
b= —0.809017 — 0.2478641

u = —0.448397 — 1.2661701
a = —0.69692 + 1.967941 —12.1725 —6.00000
b= —1.70581 — 2.284471
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= —0.186989 — 1.3561101

Solutions to I¥ Vv—1(vol +/—1C8) Cusp shape
u = —0.496006
a = —1.76810 4 1.088351 —4.27683 —6.00000
b= —0.186989 + 1.3561101
u = —0.496006
a = —1.76810 — 1.088357 —4.27683 —6.00000
b
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VIL 1*

(i) Arc colorings

o= (1)

ag —
a7 =
az =

aq =

(
(
(
(
o=
(
(
(
(
(

(ii) Obstruction class =1

(iii) Cusp Shapes = —12

b—u—1,a+2u+1, u?+1)
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
1 2
C1,C9, C11 (u— )
C2,C5, C
2,05, C6 U2 + 1
C7,C10,C12
2
C3,C4,C8 u
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
—1)2
C1,C9, C11 (y )
C2,Cs5, Ce (y+1)2
C7,C10,C12
2
C3,C4,C8 Y

32



(vi) Complex Volumes and Cusp Shapes

Solutions to I¥ vV—1(vol +/—1CS) Cusp shape
U= 1.0000001
a = —1.00000 — 2.000001 —4.93480 —12.0000
b= 1.00000 + 1.000001
U= — 1.0000001
a = —1.00000 + 2.000001 —4.93480 —12.0000

b= 1.00000 — 1.000001
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VIII. u-Polynomials

Crossings u-Polynomials at each crossing
(u—1)%(u? +u+ 1) (ub + 4u° + 6u” + u® — 5u” — 3u + 1)?
c1,Co,C
b (u” 4 4u® 4 8ud 4 6ut — Bu? —u— 1) (u® + 9ut 4+ 2u 4 1)?
(w4 10Ut 4 - 3u+ 4)
Ca, Cs, Co (u? + 1) (u? +u+ 1) (u® + 2u* +ud +u® +u —1)?
1, €10, C12 (w20 20w —u D) (ut — w4 4 1)?
S(u® 420t 4 Bu 4 2)
¢3,C4, Cg w(u? —u+ 1) (u? +u—1)%u” = 5u’ — 2u* + Tud + 40 4 4)

(' —2ut® 4 2)3
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IX. Riley Polynomials

Crossings Riley Polynomials at each crossing
(y—1)2(y° +y+1)(y° — 49° + 18y" — 35y + 43y* — 19y + 1)?
€1, €9, €11 7 5 16 15
(Y +16y° 4+ =9y —1)(y " — 10y + -+ —y + 16)
(y1673y15+72y+1)2
e ence | WFDAWHy+ D)0 +49° 6y +y° - 5y° -3y +1)°
crei0,ca | (W H Ay’ H8y° 6yt —5y" —y —1)(y'0 +9y" 2y 4 1)
(Y +10y"° 4+ - + 3y + 4)
v (y* =3y +1)°(y° +y+1)
C3,C4,C8

(y" — 10y + 39y° — T4y + 65¢° — 32y — 16)
5 (y16 _ 18y15 + . + 19y+4)3
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